

$\log_n^m = a \Rightarrow m = n^a$
 $\log_{mn}^m = \log_{n \cdot a}^n = \log_{n^{a+1}}^n = \frac{1}{a+1}$

$\log_{mn}^{mn} = b \Rightarrow \log_{mn}^{mn} + \log_{mn}^m = b$
 $\Rightarrow \frac{a}{a+1} \log_n^a = b \Rightarrow b = 1 + \frac{a}{a+1} \Rightarrow 0 < \frac{a}{a+1} < 1$

$[b] = 1$

ا) $\sqrt{\frac{x}{\log \frac{1}{x}}}$ $x > 0$ I
 $\log \frac{1}{x} \neq 0 \Rightarrow x \neq 1$ II

$I \cap II \cap III = (0, 1)$
 $x > 0$
 $x < 1$

$\frac{x}{\log \frac{1}{x}} \geq 0$

ب) $\log \frac{(x^2 - x - 2)}{x^2 - 1} + 1$

$x^2 - x - 2 > 0$
 $(x-2)/(x+1) > 0$

$(-\infty, -1) \cup (2, +\infty)$ I

$\sqrt{x^2 - 1} + 1 \neq 0$ مثبت
 $x^2 - 1 \geq 0 \Rightarrow x \geq 1$ $(-\infty, -1] \cup [1, +\infty)$ II

$I \cap II = (-\infty, -1] \cup (2, +\infty)$

$r \log_a^a + \log_a^r = r$ $\log_a^a = \log_a^r = r$ $t^r + 1 - rt = 0$
 $r \log_a^a + \log_a^r = r$ $t + \frac{1}{t} = r$ $\frac{x}{t} \Rightarrow t=1 \Rightarrow \log_a^r = 1 \Rightarrow a=r$

$(\log \frac{4}{r})x^r + (\log 9)x - \log 15 = 0$ $\log 9 = \log r^2 = 2 \log r = 2 \times 0.176 = 0.352$

$\log \frac{4}{r} = \log 4 - \log r = \log 4 - \log r - \log r - \log r = 0.176 - 0.176 - 0.176 - 0.176 = -0.544$
 $0.176x^r + 0.176x - 1.1 = 0$
 $r^2x^r + 17x - 11 = 0$
 $x^r + 17x - 11 = 0$
 $(x+11)(x-1) = 0$
 $x = -11$ or $x = 1$
 $\frac{17}{r} - (\frac{-11}{r}) = \frac{15}{r}$

$\log \frac{1}{15} = \log \frac{1}{r}$ $\frac{\log \frac{1}{r}}{\log \frac{1}{15}} = \frac{\log \frac{1}{r} + \log \frac{1}{r}}{\log \frac{1}{r} + \log \frac{1}{r}} = \frac{1 + \frac{1}{\log r}}{1 + \log r} = \frac{1 + \frac{1}{0.176}}{1 + 0.176} = \frac{6.71}{1.176} = 5.71$

$\log \frac{4}{15} = \frac{\log \frac{4}{r}}{\log \frac{15}{r}} = \frac{\log \frac{4}{r} + \log \frac{1}{r}}{\log \frac{15}{r} + \log \frac{1}{r}} = \frac{\frac{1}{\log r} + 1}{\log \frac{15}{r} + 1} = \frac{\frac{1}{0.176} + 1}{0.176 + 1} = \frac{5.71 + 1}{1.176} = \frac{6.71}{1.176} = 5.71$

$\log \frac{1}{15} = m \Rightarrow \log \frac{1}{r} = m \Rightarrow \log \frac{1}{r} = 4m$ $\log \frac{4}{r} + \log \frac{1}{r} = \log \frac{4}{r} = 4m$
 $\log \frac{1}{r} = ? \Rightarrow \frac{1}{r} \log \frac{1}{r} = ?$
 $\frac{1}{r} (\log \frac{4}{r} + \log \frac{1}{r}) = \frac{1}{r} (\frac{4m-1}{r} + r) = \frac{4m+3}{r}$

-1

$$\left. \begin{aligned} (0, \epsilon)^{r_m-1} &= \left(\frac{1-r_0}{\lambda}\right)^{r_m} \\ \left(\frac{r}{a}\right)^{r_m-1} &= \left(\frac{d}{r}\right)^{r_m} \end{aligned} \right\} \begin{aligned} \left(\frac{r}{a}\right)^{1-r_m} &= \left(\frac{d}{r}\right)^{r_m} \\ 1-r_m &= r_m^r \\ r_m^r + r_m - 1 &= 0 \end{aligned}$$

$$\begin{aligned} r_m^r + r_m - r &= 0 \\ (r+r)/(r-1) \\ -\frac{r}{r} &= \frac{1}{r} \\ \bar{C}\bar{C}\bar{E} \end{aligned}$$

$$\log_{\lambda}^{q_{m+1}} = \log_{\lambda}^{q(\frac{1}{r})+1} = \log_{\lambda}^r = \log_{r^r}^r = \frac{r}{r} \log_r^r = \boxed{\frac{r}{r}}$$

$$\log_r^r = a \Rightarrow r = r^a$$

$$\log_{\lambda}^b = \frac{r}{r}(1+a) \Rightarrow b = \lambda^{\frac{r}{r}(1+a)} \Rightarrow b = r^{\frac{r}{r}(1+a)} \Rightarrow b = r^{1+a}$$

$$b = r^r \lambda^r a^r = r^r \lambda^r a^r \Rightarrow b = \epsilon^r \lambda^r a^r = \underline{r^r} \quad \log_{10}^{rb-a} = \log_{10}^{r^r \lambda^r a^r - a} = \log_{10}^{10} = \textcircled{r}$$

$$\left. \begin{aligned} \frac{-b}{-ra} &= \frac{1}{\log r} \Rightarrow \frac{ra}{b} = \log r \\ a &= \frac{b+c}{r} \Rightarrow c = ra-b \end{aligned} \right\} \begin{aligned} c &= ra - \frac{ra}{\log r} \Rightarrow \left(\frac{1}{\sqrt{r}}\right)^{\frac{c}{a}} \\ \frac{c}{a} &= r - \frac{r}{\log r} \end{aligned}$$

$$\begin{aligned} r^{\frac{1}{r}} \times r^{\frac{r}{\log r}} &= r^{\frac{1}{r} + \frac{1}{r \log r}} \Rightarrow r^{\log_{14}^{10} - \frac{1}{r}} = r^{\log_{14}^{10} + \log_{14}^{\frac{1}{r}}} = r^{\log_{14}^a} \\ \frac{1}{r \log r} &= \frac{1}{\log 14} = \log_{14}^{10} \end{aligned}$$

$$\Delta \log_r^r = \boxed{\Delta \frac{1}{r} = \sqrt{\Delta}}$$